
 

 

 

Answer on the question #62836, Chemistry / General Chemistry 
 
Question: 
 
what precipitate forms when aqueous solutions of calcium bromide and potassium phosphate 
are mixed? What is the work shown to figure this out? 
 
Answer: 
 
According to the solubility table, calcium phosphate Ca3(PO4)2 is insoluble. 
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Thus, the precipitate formed when two solutions are mixed is calcium phosphate Ca3(PO4)2. 
 
The equation of chemical reaction between calcium bromide and potassium phosphate is 
needed to figure this out: 
 

3𝐶𝑎𝐵𝑟2 + 2𝐾3𝑃𝑂4 → 2𝐶𝑎3(𝑃𝑂4)2 ↓ +6𝐾𝐵𝑟 
 
In its turn, potassium bromide is soluble. 
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